
ÜBERSICHTSZEICHNUNG  
ASSEMBLY DRAWING 
 
 

 

 
   Square Urban 5.8 & 3.8 | Square Urban X7.8 

 1 - 2  

 

 

 

 

                                                                                              Square Urban 5.8 & 3.8 | Square Urban X7.8 

 

 

 



ÜBERSICHTSZEICHNUNG  
ASSEMBLY DRAWING 
 
 

 

 
   Square Urban 5.8 & 3.8 | Square Urban X7.8 

 2 - 2  

 

 
 

 

 

 

 

 

 

 

BOM-ID Description Specification Torque Item no. QTY 
1 Urban carrier for adjustable dropout     CA0004 1 
2 Pletscher Fender RG 40 RAW UC/ADO/SN with holes for light   FER0013 1 
2 Pletscher Fender RG 40 RAW UC/ADO no holes for light   FER0015 1 
3 Square Fender Mount Rear -02 raw     SMF0017 1 
4 Square Fender Mount Rear -01 raw     SMF0016 1 
5 countersunk screw T30 - M6 x 12,7 8Nm CASC0001 3 
6 countersunk screw T30 - M6 x 16 8Nm CASC0003 2 
7 cylinder head screw T25 - M5 x 11 6Nm SM0919 10 
8 selflocking nut  M5   SM1238 3 
9 shim D5,3 M5   SM1242 10 

10 cylinder head screw HEX 4 - M5 x 45 5Nm SM1234 1 
11 Fächerscheibe M5   SM1240 1 
12 Scheibe groß Außendurchmesser D5,3 M5   SM1244 1 
13 fender Endcap     SMF0003 1 
14 Abdeckkappe Sechskantkopf M5     SM1246 5 
15 Distanzhülse 10 x 5   SM1144 1 
16 Distanzhülse 10 x 15   SM1148 1 
17 axle shock for adjustable dropout     FROT0006 2 
18 counter wheel (nut) for adjustable dropout     FROT0005 2 
19 self-locking nut for adjustable dropout     FROT0008 2 
20 Nut for Hub     Depends by hub 1  
21    Hexagon socket head cap screw  HEX 4 - M5 x 5 5Nm    SMSC0007  4 
22   Hexagon socket head cap screw HEX 3 - M3 x 5 4Nm   SMSC0008 2 

Square Urban 5.8 & 3.8 | Square Urban X7.8 

Optional  
Schutzblech ohne Löcher 

Fender without holes 



ÜBERSICHTSZEICHNUNG  
ASSEMBLY DRAWING 
 

 
 1 - 2  

 

 

 

 

 

 

 
 

Front Fender KIT Square Urban MY18 
2017-12-07  V01 



ÜBERSICHTSZEICHNUNG  
ASSEMBLY DRAWING 
 

front fender kit 
  2017-12-07  V01 
 2 - 2  

 

 

 

BOM-ID Description Specification Torqu
e Item no. QTY 

1 Würth, screw torx, SHR-ISO14583 T25 - M5x11mm 6Nm SM0919 6 
2 Fender fork connection 40mm for rigid fork     SMF0004 1 
3 Würth Scheibe D5,3 M5   SM1242 6 
4 Würth Sechskantmutter selbstsi. Nierdrig M5   SM1238 2 
5 Pletscher Schutzblech RG40 w/o light     FEF0007 2 
6 Fender end cap RG-40      SMF0003 2 

KFF0002 Front Fender KIT Square Urban MY 2018 


